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The objective function allowable range for c2 in Z = 3x1 - c2x2 is from:
Z = 3x1 - 3x2
to
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! Problem 6.7-7 a)
Max 3 x1 - 2 x2
"

2 x1 - x2 <= 30
x1l - x2 <= 10

end
LP OPTIMUM FOUND AT STEP 2
OBJECTIVE FUNCTION VALUE
1) 40.00000
VARIABLE VALUE REDUCED COST
X1 20.000000 0.000000
X2 10.000000 0.000000
ROW SLACK OR SURPLUS DUAL PRICES
2) 0.000000 1.000000
3) 0.000000 1.000000
NO. ITERATIONS= 2

RANGES IN WHICH THE BASIS IS UNCHANGED:

OBJ COEFFICIENT RANGES

VARIABLE CURRENT ALLOWABLE ALLOWABLE
COEF INCREASE DECREASE
X1 3.000000 1.000000 1.000000
X2 -2.000000 0.500000 1.000000
RIGHTHAND SIDE RANGES
ROW CURRENT ALLOWABLE ALLOWABLE
RHS INCREASE DECREASE
2 30.000000 INFINITY 10.000000
3 10.000000 5.000000 INFINITY
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! Problem 3 - weigthed goal programming Scott Schultz

Min 10 dlm + 6 d2m + 4 d3m + d4p

ST
excell) 60 x1 + 50 x2 + 40 x3 + dlm - dlp = 5000
good) 20 x1 + 35 x2 + 20 x3 + d2m - d2p = 3000
med) 20 x1 + 15 x2 + 40 x3 + d3m - d3p = 1000
budget) 400 x1 + 300 x2 + 250 x3 + d4m - d4p = 28000
end
LP OPTIMUM FOUND AT STEP 8
OBJECTIVE FUNCTION VALUE
1) 2000.000
VARIABLE VALUE REDUCED COST
D1M 0.000000 4.000000
D2M 0.000000 6.000000
D3M 0.000000 4.000000
D4P 2000.000000 0.000000
X1 0.000000 40.000000
X2 100.000000 0.000000
X3 0.000000 10.000000
D1P 0.000000 6.000000
D2P 500.000000 0.000000
D3P 500.000000 0.000000
D4M 0.000000 1.000000
ROW SLACK OR SURPLUS DUAL PRICES
EXCELL) 0.000000 -6.000000
GOOD) 0.000000 0.000000
MED) 0.000000 0.000000
3UDGET) 0

.000000 1.000000

NO. ITERATIONS= 8



! Problem 3 - pr
Min d4p
ST
xcell) 60 x1
good) 20 x1
med) 20 x1
budget) 400 x1

end

e-emptive

50 x2
35 x2
15 x2
300 x2

+ 4+ + +

LP OPTIMUM FOUND AT STEP

goal programming Scott Schultz
+ 40 x3 + dlm - dlp = 5000
+ 20 x3 + d2m - d2p = 3000
+ 40 x3 + d3m - d3p = 1000
+ 250 x3 + d4m - d4p = 28000
6

OBJECTIVE FUNCTION VALUE

1) 0.0000000E+00
VARIABLE VALUE REDUCED COST
D4P 0.000000 1.000000
X1 10.000000 0.000000
X2 80.000000 0.000000
X3 0.000000 0.000000
D1M 400.000000 0.000000
D1P 0.000000 0.000000
D2M 0.000000 0.000000
D2P 0.000000 0.000000
D3M 0.000000 0.000000
D3P 400.000000 0.000000
D4M 0.000000 0.000000
ROW SLACK OR SURPLUS DUAL PRICES
EXCELL) 0.000000 0.000000
GOOD) 0.000000 0.000000
MED) 0.000000 0.000000
B8UDGET) 0.000000 0.000000

NO. ITERATIONS=
! Budget goal now
Min dlm
ST

excell) 60 x1
good) 20 x1
med) 20 x1
budget) 400 x1

end
LP OPTIMUM FOUND
OBJECTIVE
1) 3

VARIABLE
D1M
X1
X2
X3
D1iP
D2M
D2P
D3M
D3P
D4M
D4P

6

a constra

50 x2
35 %2
15 x2
300 x2

+ 4+ +

AT STEP

FUNCTION

33,3333

VALUE
333.333344
0.000000
93.333336
0.000000
0.000000
0.000000
266.666656
0.000000
400.000000
0.000000
0.000000

int, solve for goal 2

+ 40 x3 + dlm - dlp
+ 20 x3 + d2m - d2p
+ 40 x3 + d3m - d3p
+ 250 x3 + d4m - d4p
d4p
7
VALUE

REDUCED COST
.000000
.666667
.000000
.666667
.000000
.000000
.000000
.000000
.000000
.166667
.000000

eNeoNoNeoNeoNoN i el Ne)

(excellent chip demand)

5000
3000
1000
28000



ROW SLACK OR SURPLUS
.000000
.000000
.000000
.000000
.000000

EXCELL)
GOOD)
MED)
BUDGET)
6)

NO. ITERATIONS=

Stop, goal 2 not completely met.

[eNeoNeNeNe)

7

DUAL

1
[cNeoNe NN

PRICES

.000000
.000000
.000000
.166667
.166667





